o — =
.88 & &
SIAAZ 20224
Ofl &b Xb== 0 =0l &
A2 HIISHAMNEEXNH EI=
® JI24EX MK
(1) X221 : STA HIISHAAL SXHE V4 ¢ JI328 Xl MI0X(I29 £4)
(2) #xExH EHEN 300 0la BEFE E= SX HLAARI} LRe U0 HIISHA
g 45
(3) #XEE : 2012
@ J12289 Jl=ys
(1) Jisatge 521 MEHII2 ZIHeIALL &x FX
(2) 20228 &= JISAE iR MEHIIZS MelAd XA =3
@ JI=x4d ¥ 28
(1) JI2x4 sg
O e 2 =4 (29 @ ®E)
2022 & x4 7 & S
2021 E 2 c0zect o
ZHY @ cene = a
+2 © & © 52 0=0-0 ®+®
947,985 6,975 195,890 £ 188,915 759,070
OJ2 & 2472 (Gl ms)
2020 & 2 SN2 P 2 247D
ZHY @ ISl &2 ©® DI&&ZY © @=@+®-©
759,070 0 0 759,070
(2) MEZE © HIISHANLLXHIE SN0 2st 3, 0|+
(3) X&AJNE : 2= HIISHAAL £XH8 2+ L J1328 Xl MNEOI22 85)0 RES
A&t
(4) NAUe © 2=ZA HIISHANE £XHE I+ L )22 = HI1Z0I39 =)0 AFs&

St

=

0




SIAHAT 20224
Ofl &b Xb== 0 =0l &
AFE C HIISXCANELNBIEI =

® S35 CERED
= & Al = Xl = Al =
& = o= 2| o HHE QoM s & = IR HASXENH S
= Al 954,960 0 954,960 | & A 954,960 0 954,960
o 2 = 0 0 0|Hl & X & A HI 195,890 0 195,890
=] ES = 0 0 0|8 A& At HI 0 0 0
Xt 2 = 0 0 0| & 2 4 i 0 0 0
Eotzz e 0 0 0[21 2 & Hl 0 0 0
HEZIAS3 =+ 0 0 ool & =2 0 0 0
o X = 3 = 947,985 0 947,985 | Ol Xl = 759,070 0 759,070
Ol e = 0 0 B EEE = 0 0 0
o X = ¥ 6,975 0 6,975 [0l =238 0 0 0
JE = Y 0 0 0|21 & X = 0 0 0




SIAHAT 20224
Ofl &b Xb== 0 =0l &
AFE C HIISXCANELNBIEI =

@ == (el ®Q)
Z-2-8-8 o Lo = &4 E W
Qo
200 A2l %2 6,975 0 6,975
210 ZAE A+ 6,975 0 6,975
216 Ol Rt ¢ 6,975 0 6,975
216-01 220 20/ X+ 6,975 0 6,975
OAIZ22 023 0IRt4+e

6,975,0002 x14! = 6,975
700 B LA S UL 947,985 0 947,985
710 B82S 947,985 0 947,985
714 GIXI 23 947,985 0 947,985
714-01 O X 23l 947,985 0 947,985

OddEX 0183
947,985,912& x14l = 947,985

= g g A 954,960 0 954,960




SIAHHE 2022
Ol &EXb== 0 S0l &
HAFAZ ¢ HIISHEANELXHEIS
® N&EAHE ool A
- - - dEE
AR .22 . @ .09 . AS2AY - BAS X = o - HDS2
N1
A& &= 28t 954,960 954,960
MWs-=8 759,070 759,070
HWRES(HISH2AAMEEXHEI2) 759,070 759,070
BEXNE(HIISHAANEEXHEI2)(HISHAANEEXH EIN2) 759,070 759,070
HoI2XMelANE8xbEJI22Z (U Xl) 759,070 759,070
602 Ol Xl= 759,070 759,070
01 LBtUXI=3 759,070 759,070 759,070
OAZ21 Wx23 759,070,000& x14& = 759,070
HII2 195,890 195,890
T % HApE 195,890 195,890
HII2™M2AlE SXHEI12 2S (HIISH2AANEEXHEI13) 195,890 195,890
HIISM2IAIE HE 195,890 195,890
201 et 105, 140 105, 140
01 At 22l 105, 140 105, 140 105, 140
OYBt=ZH| (SEUI0ILQIASIAIE AA HOHA
Ae asa)
105,000,000 14! = 105,000
CEL-PRTPIEEE-WET T IRN)
70,0003 x1H *23| = 140
207 A SO0 Hl 90,750 90,750
01 eRgey 90,750 90,750 90,750
OXEz =AY EX0 GHE &Z 4 JSAM 2
o
90,750,000& 14! = 90,750
o5 & A 954,960 954,960




w
e
H
g
A
oy
P
0x

=
ba}
02
o
(]

SIAHAT 20224
Ofl &b Xb== 0 =0l &
AFE C HIISXCANELNBIEI = (

m
£
[pal
{0

X & o

=== H@ Moz =2 o= ifff; OIXt29l | JIEt2 2l
2016 MHX] 17,686,742 14,667,849 0 113,353 2,905,540
201749 = 32,333 0 0 32,333 0
20188 = 897,081 0 0 7,664 889,417
201948 = 14,447 0 0 14,447 0
20204 = 27,200 0 0 14,200 13,000
202149 = 6,750 0 0 6,750 0
20224 & 6,975 0 0 6,975 0

Hl 18,671,528 14,667,849 0 195,722 3,807,957




SIAAZ 20224
Ofl &b Xb== 0 =0l &

SIHTE  BOISMANLLIH SIS (o @)
E s o
” &t oH
9 == HIEXY | SHEA ezl | HUS2 | =38 = | ®®
A® ARSI HI ol |2 o=z | p2as |2ase |0 HNE
= = = o o o (= =]

2016 MHX] 14,700,338 14,700,338 0 0 0 0 0 2,986,404
201789 &= 2,609,005 70 0 0 0 0 2,608,935 | A2,576,672
201848 & 52,798 52,798 0 0 0 0 0 844,283
201949 &= 334,147 334,147 0 0 0 0 0 A 319,700
202048 & 140 140 0 0 0 0 0 27,060
202189 &= 20,140 20,140 0 0 0 0 0 A 13,390
20224 & 195,890 195,890 0 0 0 0 0 N 188,915
Al 17,912,458 15,303,523 0 0 0 0 2,608,935 759,070




| 2 Et2
4. Ol XI= HEZ DAl
SIHAE 20224
Off abZp =0l &
SHTE : HIISHRAIAEETHIEII2 (
Ol X 2 0 £t oH
22 |dx(eHH . .
UHYH | 202HEUBHYUD | 2022 CLHYHO® (©-®)
A 950,890 947,985 759,070 A 188,915
Ol Xl 2 2 950,890 947,985 759,070 A 188,915
sg=d" 950,890 947,985 759,070 A 188,915




